HRAEL B R A E:S A—WNW-MOO0 TS BN R

24 [JUABET Y E QUIAR) ppmas | Hile 751 B
" Eaks) B {7 = B% |&E5 B At - E4
= 002 51 g BHRMRA 0= 65 150 EIREARST i
;% H10 4 12 g6 5 1503000 = HHIE
a1 g1 o ERERERT
L AL7ALEAE)
JIS B0205
< - _
o - . | U RD
. )=
| a~r b
|
Ei_ﬂé | D |
[&&: HWN] (B) | %
| -
T LA —1JN\
? j,__ L7 o
1
- - - - nNnUNE:E
lswiil)
[E&%: WN]
. )
— ME:SPCC
o & ¥ 7R S —b
(12 L x ST D H gm [Em | At © [(B)] G |t 19
Maxig |19.1 [8.5 4.0 [1.8 [10.0 [3.5 7 |4.0 0.8 [0.4
+1.0 +0,5| +0.5 =+0.5 +0.,5 3.0 +0.5
Max22 [22.2 19.5 |4.5 [2.1 [11.0 [3.5 8 [4.5 |1.070.4
+1.0 +0.5| +0.5| +0.5| +0.5 3.0 +0.570.8
22.2 19.5 4.5 (2.1 |11.0 [3.5 8 4.5 [1.070.4
M35 x22 +1.0 +0.5| +0.5| +0.5| +0.5 3.0 +0.570.8
M6x25 [25.4 (10,0 5.2 (2.3 [12.8 [4.0 9 (4.5 1.0 0.5
+1.0 +0.5 +0.5| 0.5 +0.5 3.5 +0.5
Mgxg2g [28.6 [11.0 |-—— [3.2 [15.5 |- 10 |5.8 | 1.2 |0.6
+1.0 +0.5 +0.5 +0.5 4.5 +0.5
Msx3g2 [31.8 [11.5 6.5 |=—— [17.0 [5.0 12 (6.3 1.2 0.6
+1.0 +0.5| =+0.5 +0.5 —— +0.5
M10x35[34.9 [13.0 |-—— [3.8 [18.0 |- 12,57 [1.3 (0.6
+1.0 +0.5 +0.5 +0.5 5.5 +0.5
=il 53
A i3}

RUIIIS BO20S (-ME B ) 2R, Z0IBEIIIS B0209 ™ 6 H” IC¥RT 3. [ &=z

Xt IAHE () oRBERT.




L B R NS A=—SWN—-MOO #4224 Pp = F =-5j
By =L = 24 |5 B = 24
- Si04-2 A1 B FARFET 200 67 150 EHRERGRRIT e
;% 0412 216 S1S030008E N E DB
WMiET 71 o BREAERT
[G&: SSHWN———]
L oY NN
J18 B0205 | LoD
I RECa
o a1 b
. |
5 %
r‘—_‘ ‘Q
T (B)
= — neoES
A Q%%;ﬂi__i// O
|
ME:SUS304
o, 2 I _
(thlif'?X%%'IE"?) D H S A c | (B) G t* amaxb
Maxo2o [22.2 8.5 4.5 11,0 | 3.5| 8 [4.5 |g.8 |0.4
+1.0 +0.5 +0.5 +0.5 +0.5
22.2 8.5 4.5 11,0 | 3.5| 8 (4.5 0.8 0.4
M5 x22 +1.0 +0.5 +0.5 +0.5 +0.5
M6x25 [25.4 |10 5.2 12,8 | 4.0 9 4.5 1.0 10.5
+1.0 +0.5 +0.5 +0.5 +0.5
Msx3g [31.8 |11.5 6.5 17,0 | 5.0(|12 [6.3 1.2 10.6
+1.0 +0.5 +0.5 +0.5 +0.5

RUILIIS BO20S (-MI B) BB, TORBEIZJIS B1209 " 6 H” IC¥RT 3,
X BatIME (F#) oREATRT.

i
c




